THIS DRAWING IS UNPUBLISHED. | RELEASED FOR PUBLICATION SEP ,2005. Loc DIST REVISIONS
© coprrcHT 2005 By - ALL RIGHTS RESERVED. — P OR DES§R$PTION DATE DWN | APVD
1 CONTACT COPLANALITY IS 0.1 MAX. 1 3923733 UF4-1k 0.1 BT R REVISED PER ECR—11-006365 28MAR2011 A.L [S.Y
A THIS DIMENSION MEANS CENTER OF THE POCKET. A ATERRTY hodhDeET .
D L?)l M3 TAPPING + BVTP RECOMMENDED TORQUE: 68.6N (7Kgf) MAX. M3 TAPPING + BVTP i3 kb2 68.6N (7Kgf) BT, D
FINISH #HE
CONTACT: V #m MIN. Au PL. ON CONTACT AREA (V: SEE TABLE) aV52bh:aAVSIRIVUPKE Vum UEo goo ¥ (V: Z8R)
0.03~0.1 «m Au PL. ON TERMINAL AREA 9—=IFNIVUFK 0.03~0.1 um o&Hh> &
Ni UNDER PL. ALL OVER Sy T T o ERIET
SHELL: Sn PL. (MATTE) ALL OVER Yin:  FEBoE (DPMHL)
Ni UNDER PL. ALL OVER Sy ST o ERIET
— /A\ SCREW SIZE A\ 2791 -94% -
QTY PRINT ON THE LABEL. (EMBOSS PACKING) BRIESVHFENR3 (EMBOSS #8)
SOFT TRAY
0.3 - A 7019 - | - | - | - |335|375(9.32| 0.4 |32 |28.4|14.2| 16 |  wmHour TapE WITHOUT FLANGE | THROUGH HOLE | (SEE SHEET 2) |orr gepr 1) | 6—1903015-3
0.76 | M3 x 0.5 70/ 19| 46 |138|6-23| 46 | - | = | = | = | =-| = | = | - WITH TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) (sgngrHTERErAYn 9-1903015—4
03 | M3x 05 |A200] 19| - | - | - | - |455[49.5|18.3| 0.5 | 44 [40.4|20.2 20 WITH TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) | ot ey 6y | 9—1903015-3
0.3 M3 x 0.5 70| 1.9 - - - — - - - - - - - - WITHOUT TAPE WITH FLANGE THROUGH HOLE | (SEE SHEET 3) (SEE sHEeT 10)| 8—1903015—-4
0.1 - Assof 19| - | - [ - | - |335]|375]|9.32| 0.4 | 32 [28.4 142 16 WITHOUT TAPE WITHOUT FLANGE | THROUGH HOLE | (SEE SHEET 2) | (et speey 6) | 7—1903015—1
Cl o3 [M3x05 |[A200] 18| = | = | = | = |455]|49.5|16.3] 0.5 | 44 |40.4|202] 20 WITHOUT TAPE WITH FLANGE FULL SMT | (SEE SHEET 5) | (ort aper 6) | 5—1903015-9
0.3 - As50] 08| - | - | - | - [335]|375[9.32] 04 [32]284[142] 16|  wmHour Tare WITHOUT FLANGE | THROUGH HOLE | (SEE SHEET 2) | (qer sy o) | 5—1903015-5
0.3 | M3 x 05 70| 1.9 | 46 [138|6-23| 46 | - | - | - | - |-| -] - |- WITHOUT TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) | cor qpnr 7y | 5—1903015—4
| 03 | M3x05 |[Az200[19| - | - | - | - |455|495(18.3| 0.5 | 44 [40.4 (202 20 |  wmHouT TaPE WTH FLANGE | THROUGH HOLE | (SEE SHEET 3) | ser ey &) | 5—1903015—3
0.3 |A\ 926503 70 1.9 | 46 |138|6-23| 46 | - | - | - | - | -| - | - | - WITHOUT TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) (SESEU SHEErw7) 5-1903015-2
0.3 - Aol 19| - | - - - |335]375)9.32]| 0.4 | 32 |28.4|142] 16 WITHOUT TAPE WITHOUT FLANGE | THROUGH HOLE | (SEE SHEET 2) (m 6 | 5-1903015—1
0.3 | M3 x 05 70{ 10| 46 (138 |6-23| 46 | - | - | - | - | -| - | - WITHOUT TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) (SESEU SHEErW7) 4-1903015—1
0.76 - Mool 12| - | = | - | - [335|375[9.32| 04 | 32|28.4[14.2]| 16 WITHOUT TAPE WITHOUT FLANGE | THROUGH HOLE | (SEE SHEET 2) | oot 'sueey ) | 2—1903015-2
0.76 | M3 x 0.5 700 1.9 | - | - - - -1-=-1-1-1-1-1-1- WITHOUT TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) (SESEU SHEHE‘YQ) 1903015-8
0.76 |\ #2.65+0.3 700 1.9 | - | - - - -1-=-1-1-1-1-1-1- WITHOUT TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) (SESEU SHEHE‘YQ) 1903015-7
Bl o076 [ M3 x 05 50| 1.9 |54.4|120 |4-30|544| - | = | = | - |- | - | - | - WITHOUT TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) (SESEU SHEErwg) 1903015-5
0.76 | M3 x 0.5 70 1.9 | 46 |138|6-23| 46 | - | - | - | - | -| - | - | - WITHOUT TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 4) (SESEU SHEErwa) 1903015—4
0.76 | M3 x 05 [A200{ 1.9 | — | — | - | - |455|495(18.3| 0.5 | 44 [40.4[20.2] 20 WITHOUT TAPE WTH FLANGE | THROUGH HOLE | (SEE SHEET 4) | (ocr ey 6y | 19030153
0.76 |A\ 92.65+0.3 70 1.9 | 46 |138|6-23| 46 | - | - | - | - | -| - | - | - WITHOUT TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) (SESEU SHEErw7) 1903015-2
0.76 - MA4oof19]| - | - | - | - [335|37.5(9.32| 0.4 | 32 |28.4 (142 16 WITHOUT TAPE WITHOUT FLANGE | THROUGH HOLE | (SEE SHEET 2) | (et Steey o) 1903015—1
— Vv u T AA S R P N M L K J H G F E POLYIMIDE TAPE FLANGE SHELL TYPE [ CONNECTOR PACKING PART NUMBER
u PL.| AscrRew sizE| QTY DIMENSION PART LIST
THIS DRAWING IS A CONTROLLED DOCUMENT. |™ 265EP2005 =
GH'E‘MURAYAMA 26SEPZ005 = TE TE Connectivity
DIMENSIONS: TOLERANCES UNLESS T.KIMURA
Mfi: B OTHERWISE SPECIFIERY | APVD 26SEP2005 | NAME
mm e R —LKIMURA HDMI 19 POS RECEPTACLE ASSY
b
A e x S8 81802 SMT SHORT TYPE A
{%) E APPLICATION SPEC
iPLL; i . BAERAR SIZE | GAGE' CODE [DRAMNG NO RESTRICTED
MATERIAL FINISH WEIGHT A:/) 00779 @,:.1 903015 -~
CUSTOMER DRAWING o 41 ™™ 1012]®R

147019 (3/11)



THIS DRAWING IS UNPUBLISHED. | RELEASED FOR PUBLICATION SEP ,2005. Loc DIST REVISIONS
@ COPYRIGHT 2005 By — ALL RIGHTS RESERVED. — P OR DES§R$PTION DATE DWN | APVD
- SEE SHEET 1 - — —
D 15.7 +0.1 D
R0.3%0-1 :
TYP.(8)
|
REF - g
15 v g |
] o ¥ —— f———— -— #19 #
0.2%0.03 “ | - 3 REF ]
[¢]o.1[X] [0.5] +0.03
/@ g | o 0.3 \ I | 4.75) 2.5 REF p
o
T AT, ¥ 10.8+01 s Lefo.oslx1 g
Iz | v v R 13.25 0.1 i TP (19) "
o ik
| CH 9 4
' : ' PANEL CUT OUT DIMENSION (REFERENCE) ] > mmmmmmmm mmmmmmmmm A
4 il 1 (il | & . ©r T
! ] [} g o @© ['4
| | | W H | o @
: | . an" S © 1
. 16.2 REF . A | X
9:I:U.3 / ! ‘
— 4-61.9 \ -
] 0.88"2 (LAND, BOTH SIDE) +0.15 14.5+0.05 1=
099 157005 |
o ] ) $[0.08[x1
% —1 o & (I7H) | PcB_EDGE
| | = @ e CONNECTOR FRONT SURFACE
© o
o~ | ‘L P.C.B LAYOUT (REFERENCE)
B ] <A SHOWN AS CONNECTOR MOUNTING SIDE B
s woos| || |[|__qx00s TOLERANCE: NON—CUMULATIVE
:|:60.1 4 3:0.1
' T BRASS contacT | (®)
PHOSPHOR BRONZE sHELL  [(2)
GLASS FILLED LCP UL94V—0,
—] BLACK COLOR HousinG | (D]
CONNECTOR: WITHOUT FLANGE THROUGH HOLE TYPE
. MATERIAL DESCRIPTION | meM
¥ THIS DRAWING IS A CONTROLLED DOCUMENT. [P =
o o = TE TE Connectivity
PR OTHERWISE. SPEGIRED | APVD e
o ¥ HDMI 19 POS RECEPTACLE ASSY
ORe  # i
A REF e x SMT SHORT TYPE
14 @ E 3 PLC + APPLICATION SPEC
4 2L £, nftEARR SIZE | CAGE CODE D;A;IING NO RESTRICTED
MATERIAL FINISH WEIGHT A:/) 00779 @,:.1 903015 -~
CUSTOMER DRAWING SME 41 ¥ 2 w12 R
147019 (3/11)



THIS DRAWING IS UNPUBLISHED. | RELEASED FOR PUBLICATION SEP ,2005. Loc DIST REVISIONS
@ 3 xE
COPYRIGHT 2005 = ALL RIGHTS RESERVED. —_— P LTR DESCRIPTION DATE DWN APVD
15,7 £0.1 - | SEE SHEET 1 - - | -
D 1 5REF $3.2 +0.1 D
@ ==
0.9 £0.03 .75 :
[4-]0.1]X] /@ TYW | ¢
: o)
Pllllllllllllllllllllﬂl il - i 19 1
B koS o "l L 3 ReF ] —
1
\\I \ % /® 3 ﬁ -t f———-—] -—— 0.3 $0.03 \ L
AN N | P o 1475 2.5 REF )
\, \ o
0 | N \L 1 ! g mp 19 ]
N1 N\ N 1 me) i ( ) oy
_\A_l_\_\_ {_ =] | g -
o d
I —— (1] ™ 10.8 #0-1 ° 9
I ~]
~ 13.25 0.1 1 I{' m /an\y
. 16.2 REF . <] & A ! \\a ol &
PANEL CUT OUT DIMENSION (REFERENCE) e S | Tn 0|
+0.3 B | o o ' 2
C 9 Tol N Y 7.(_/ | q 9 |c
4 ¢
\ !
/ ! \
« 4-91.9 \
] | 3 (LAND, BOTH SIDE) +0.15 14.5+0.05 1= —
#19 i #1 o I PPy 1574005 |
- (T/H) <-[0.08]x1
T \ PcB_EDGE
— — X o o 3 CONNECTOR FRONT SURFACE
Iy ] | o
o
[ wasas | =
Lp) ! ©
" 1 e P.C.B LAYOUT (REFERENCE)
B S e SHOWN AS CONNECTOR MOUNTING SIDE B
#18 Hh M N I TOLERANCE: NON—CUMULATIVE
+H
0.5£0.05 o ‘ o ool __|||._12005 POLYIMIDE L IO)
14.5 . S0, g0 BRASS contact [ (3)
$0.1 -
15.7 . ' PHOSPHOR BRONZE sHELL  [(2)
= T D G| o [O
CONNECTOR: WITH FLANGE THROUGH HOLE TYPE MATERIAL DESCRIPTION | mem
THIS DRAWING IS A CONTROLLED DOCUMENT. | [—)
E'\ o LN TE TE Connectivity
o R OTHERWISE SPEGIFEDE [APVD e
mm e R —_— HDMI 19 POS RECEPTACLE ASSY
A 1 PLC ugAn SMT SHORT TYPE A
@ E § :E : APPLICATION SPEC
1 'ZEF 4 + Rt AR SIZE | CAGE CODE | DRAWING NO RESTRICTED
. LES + L &
MATERIAL FINISH WEIGHT A:/) 00779 @,:.1 903015 -~
CUSTOMER DRAWING SME 41 M 3012 R




THIS DRAWING 1S UNPUBLISHED. [ RELEASED FOR FUBLICATION SEP ,2005. Loc DIST REV!IzSIONS
@ . =
COPYRIGHT 2005 = AL RIGHTS RESERVED —_— P LR DESCRIPTION DATE DWN APVD
15.7 01 — | SEE SHEET 1 _ — | =
D 15REF < 3.2 +0.1 b
E] 7
0‘21:0.03 4.75 !
R0.3*01 i 7
/@ TYW | o
Mlillilililllililillili -7 i 19 1
— rra—J | ? 8 3 i- 3 REF El I
| N Te]
N d - ] - —— T +0.03
1 ! i 9@ i o Q.3 \ H 1475 2.5 REF 0
s I T O AR ' ~ g [#lo.osl| E
' ! ' ! H TYP. (19)
| | | 8 | 8 Z
g )
A £0.1 ©
R : BN RS
A 13.25 0.1 ———f= /AR
16.2 REF x ] \j_ 1 I TS
PANEL CUT OUT DIMENSION (REFERENCE) 29 | « Tr)
W MAX B | g o ' g ¥
C 10 £0.2 gt0.3 'rg NI 7{/ | p 2 o C
U 2 ' N
—_—1 l -
AT | \ !
/ ! \
S
4-01.9 \
— < (LAND, BOTH SIDE) +0.15 14.5%0.05 1= —
| g : 4o13) 157£005 |
19 H 1 N 8 = —91.
# T 3| o (T/H) [&lo.8lxi| | PcB EDGE
—— { /@ K N CONNECTOR FRONT SURFACE
0 ] o
5 ] +H
&1 == Jd P17
M) //® P.C.B LAYOUT (REFERENCE)
B ™ = = H . SHOWN AS CONNECTOR MOUNTING SIDE B
N | TOLERANCE: NON—CUMULATIVE
#18 N\ f2 g y
0.5£0.05 < 1£0.05 1£0.05 POLYIMIDE TAPE (4
: 145401 £0.1 +0.1 BRASS conTacT [ (3)
15 7201 ! 36 | 49 PHOSPHOR BRONZE shElL (2
- l o).
! CONNECTOR: WITH FLANGE THROUGH HOLE TYPE MATERIAL DESCRIPTION | mem
| l THIS DRAWING IS A CONTROLLED DOCUMENT. N [—) .
E'\ o = TE TE Connectivity
| D D"ﬂEu:':f%s‘ ﬁ?x@%ﬂfﬁé’s"cﬁs ¢ [P0 e
i HDMI 19 POS RECEPTACLE ASSY
0 PLC + PRODUCT SPEC
1 PLO ugAn SMT SHORT TYPE
A @-—E‘ 2 he * APPLICATION SPEC A
3 PLC +
1‘§_EF 4 2L £, nftEARR SIZE | CAGE CODE D;A;IING NO RESTRICTED
MATERIAL FINISH WEIGHT A:/) 00779 @,:.1 903015 -
CUSTOMER DRAWING SME 41 M 4 w12 R

1470-19  (3/11)



THIS DRAWING IS UNPUBLISHED. | RELEASED FOR PUBLICATION SEP ,2005. Loc DIST REVISIONS
© ; ]
COPYRIGHT 2005 = ALL RIGHTS RESERVED. —_— P LTR DESCRIPTION DATE DWN APVD
15.7 £0.1 — | SEE SHEET 1 - - | -
£0.1
D 83.2 D
1
RO.3 0.1 : é
TYPW | o
st s I
— 1,602 -HN % .L s
N nnmnmmnhmnmn o B T T T T
5§ I | S | /
H © 1 |
g - N 2 g | i
) | i i o 'HN 10.8 +0.1 0.3 £0.03 N \ 4.75 g
] ] ! H
W Al S = 13.05 01 @ Toos[x] | o
) | | | TYP. (19) -
T H_'_hi o PANEL CUT OUT DIMENSION (REFERENCE) mmmmmmmmmlﬂmmmmm mm—
18.2 0.3 S 1 0 L
C P | Sg & ¢
o - Hal 2
12%0.2 | |
M3 PO.5 '
7 " —— | —
En 1
— ¥ | —
! ]
© —_— - - #
©| ¥ - -
p 14.£0.1 2.9 $0.1
3 Lbcs eee
) CONNECTOR FRONT SURFACE PCB EDGE
0 3 P.C.B LAYOUT (REFERENCE)
B S — SHOWN AS CONNECTOR MOUNTING SIDE B
","q © TOLERANCE: NON—-CUMULATIVE
™)
BRASS contacT [ (3)
2 PHOSPHOR BRONZE sHELL  [(2)
= T ] Ml (o) =
CONNECTOR: WITH FLANGE FULL SMT TYPE
J MATERIAL DESCRIPTION | ITEM
H - THIS DRAWING IS A CONTROLLED DOCUMENT. |™™ -
E' ! _3 o LN TE TE Connectivity
i - i e X o
| mm —BAa% HDMI 19 POS RECEPTACLE ASSY
H 0 PLC + PRODUCT SPEC
A | 1 PLC URAR SMT SHORT TYPE A
(%) E 2 PLC +
APPLICATION SPEC
i PLL; : . Rt AR SIZE | GAGE' CODE [DRAMNG NO RESTRICTED
MATERIAL FINISH WEIGHT A:/) 00779 @,:.1 903015 -~
CUSTOMER DRAWING SME 41 ¥ 5 012 R

147019 (3/11)



THIS DRAWING IS UNPUBLISHED. | RELEASED FOR PUBLICATION SEP ,2005. Loc DIST REVISIONS
@ COPYRIGHT 2005 By — ALL RIGHTS RESERVED. — P OR DES§R$PTION DATE DWN | APVD
1903015—-1, 2—1903015—-2, 5—1903015—-1
A E 204 5-1903015-5, 7—1903015—1; AS SHOWN — | SEE SHEET f - il
D 4 +0.1 D
+0.1 &210.1 p 5—1903015-3; AS SHOWN 5—-1903015-9; AS SHOWN 9—-1903015—-3; AS SHOWN
€750 H (SCALE 1:1) (SCALE 1:1) (SCALE 1:1)
B B ™
} - R A L e AAY R A
1 1 i \ i ) i \
& >$<4>vi—4}—€} —E}—&}i—d[}—ér}—eb\\ J |
,) R e H H
1 1 - " ] 1
SENHEL] S | |
1 1 O] 1 1
I i e el e
H 1 = v eg
| | T \ $3
ek
c 00001001000 c
DETAIL A gREF 1.5%01 B-B B—B B—B
- 1903015—-3; AS SHOWN
N | (SCALE 1:1)
817 =
X|
:
B—B
ol 3
& 9380+5 SEE DETAIL A
B = B
: oo EI(I’ZI/EI‘EI\DZI J¢ &
; —— = WEEDING THE COVER TAPE: 300 MIN LABEL DESCRIPTION
#80x+1 (NOT INCLUDE EMPTINESS POCKET) '(BYT(;O *p{g; *_1903015—* r- PET COVER TAPE
PLASTIC REEL PULL OUT DIRECTION EEIEHH?; é#gléﬁ:ch%Mao' D/C: PS CARRIER TAPE
— 0.1~0.7N_ (300mm,/min.) MADE IN_CHINA 8_B PLASTIC REEL | —
CARRIER TAPE MATERIAL DESCRIPTION
THIS DRAWING IS A CONTROLLED DOCUMENT. |™™ — .
L o = TE TE Connectivity
DIMENSIONS: TOLERANCES UNLESS
N ¥ OTHERWISE SPECIFIERY [ APVD Né\“,g
mm —HaE —_— HDMI 19 POS RECEPTACLE ASSY
ppc £ BEAn SMT SHORT TYPE
A [_400 MIN._|_WITH PRODUCT CHARGE_|_25 HOLES MIN. @ % LR X A
' ' QTY: T PCS '
i PLL:S : + A;%Jﬁuc?% ST SIZE | CAGE CODE D;AQV‘IING NO RESTRICTED
MR ki WEIGHT A3|00779|(C=1903015 <
CUSTOMER DRAWING SME 41 M g 12| R

1470-19  (3/11)



THIS DRAWING IS UNPUBLISHED. | RELEASED FOR PUBLICATION SEP ,2005. Loc DIST REVISIONS
@ COPYRIGHT 2005 By — ALL RIGHTS RESERVED. — P OR DES§R$PTION DATE DWN | APVD
1903015-2, 1903015-5, 4—1903015—-1, 5—-1903015-2, 5—-1903015—4 — | sEE SHEET 1 _ N
8—1903015—4, 9—1903015—4; AS SHOWN
D 0 D
335-3
10x45" A 5p%03 243REF A\ 4%03
- 20.108
SEE DETAIL C
- —
] 3 -
o D
A L
] :
]
S
iR
ool [ﬁk ﬂ:l
| ]
ol ['4
C R o T C
DETAIL C
o ﬂ] (SCALE 2:1)
7
N
] L{LO) —
¢ ]
"
b
S Z|
Py al L]
B B
MATING FACE
DIRECTION

1 1«
= PS TRAY —
] lI_ ] MATERIAL DESCRIPTION
THIS DRAWING IS A CONTROLLED DOCUMENT. | [—)
1 = TE TE Connectivity

£

\y \\ CHK
5 \\ DIMENSIONS: TOLERANCES UNLESS APVD 3
/ _II \ i B OTHERVESEASPECIFI < 25
mm BA% HDMI 19 POS RECEPTACLE ASSY
X i o pLC + PRODUCT SPEC
A | /. 1 PLC LRAR SMT SHORT TYPE A
- =g e SPEE
D—-D 4 2L £, nftEARR SIZE | CAGE CODE D;A;IING NO RESTRICTED
MATING FACE -
DIRECTION (SCALE 2:1) e P WelGHT A3|00779(C=1903015 -
CUSTOMER DRAWING SME 41 ¥ 7 w12 R

147019 (3/11)



<
&)
& B\ |5
e [ : N
z|e g 2 |
ElS & m
E | : w ..w
e Py
2 2 ©
>
= L
m | 3 ? ouw m
= = P-4 [ 5|
olEl § | B
21 © by o
) w3k o | ¥
” S Q |4
w0 N (%
5 Q= o |24
0< E 8c | 3
4 T o N e —
AlﬂE - E I
= H
v |z [ - < DI@
Z o 03 z
oy ~e —- I w
[ . 2
x P 3 m
w M)
e Y
N 5 3w a <(
m [©)
;i =
B S
: 2
[¢]
& P
A g\ |z L
] om
o [} W“ m“ i m
E 2® \|FE \|&
S £ |z |8 |25 &% \E |3
b S .
~ B _ N
= = = = g g8
8 | / m M 3 Wﬁg H
- - _ - 3 MEM.: HHH
5 [
¢oF N 8¢
A S [PE gggdvilEs
_Dln aooo ZH
\ 1 // g oram+X
g (8]
S 4 Y 5¢Y Y?Y Y ;
S e |,
[}
— A I - : T 5 m Wﬁm
- - = = .-m
i 1 R4
[=) (=)
i ] 2 =
g b b d b Ed ) wo
I W W T W S
aSta St e a g8
1 1 1 1 1 R
B 1 T 1] 1 T 1] oa
T e v g TR T g ) HM o
wu e Z
" T s
_Rm = [= - — -
I tRrgdl HH .
o~ w —~ /l\ .
& om| -_WH o
0 5 “ - - ]
eI T 1T
[ [ [ [ [ [ ”
i a
i TH - P r L g g )
: € o wu R e e | n
m m ﬂ ‘-ﬂl 7 D2
g 7 al [l _ E
m m 4 mm.'ll Hﬁ 2y
gL o : =
al [} al [} i — 7l 2
1 < EOEaTen Al
g
— i O T D W W HH
" = ﬂtﬂﬂﬂ.nwﬂﬁﬂﬂf
> T
: =z
9 \V,-\vmaA +—62121645 | y:
0) \
s _ AL OF
= <« L A _LII } Y 2
o) _ o
’ =
0
: <<
[} . M
Bl 2 3 © cord
=3 - 3 .
wm4 T er S g R
e g 2 L z- 05C
Z
= m m o 0
| E ™ W
° g <@ 7Y}
1] o)) 7]
E —
<
&)

147019 (3/11)



o o m <
g |1 & g 4%
M | NAm W m _ m|
ElS & .
A —
! 8 |z .
|
& 3 2 o
3
4 3 EE B
< c MP F4
- a wlEl § | £ v |
" |l w | & 0 | <
\ - S
. 7} o w!
In; : ui o= 8 M (3
= Qe o[22
_ ! ’_a 7 L2 E PM 2 O
2k N E— W= <Y T 2 | =
5,¢ gl Ml GRS s i
e A=t - = DI@
~ a
o’ ) — I w
=] + 8 I~
4 | S~
o
| Dl|_ 3 vmuu
- . "
W W% « A
(72}
3
| 8 M
2]
" © g\ [z2 =
2 S\ o o
H 52\ 58 =
& g ¢ o B8 \zE \& 2
~ a m M S m mﬂ LA R S)
e .
Z (2]
g | $|8s
2w H
S |o%w
» e m&ﬂ.: HHH
a 27
4 |5
o I
B |75 gugdedd
W oramn<E
(&)
<
| o | -
(%]
2 wmm .@.
= zgE
z |
(=] (=}
o ES
I 513
= =
5
w2
M o
. <O
: o
& om| f s e=—mssme=mismisns e = N5
b N . Z
of ¥ <
Lp] [y - = = = - - =
© e
S N
. " -
mm o N .
2 ! ~-
S @ o)
=] o
2 .
z & <
("3
2 T T NS
mm._ E.LI_.
z
ARE
4 (@] —
% by
| N
%) ] 7% D_E
o -
< H og
- [le] — O
00 < )
& <q
o
. M =
g = o moﬁnNAw
1 < (@] P4
m — x EO
2 - ol 2 | ezl oF
s o N =3 8C1 7 ZZ 77 Z0
R S 43y e
e g 2 o 25 s
28 S " - 222 Z <
gE ™ E é < e
18 © 7 v s = ®
2 5| 2 :
-~ o
g
<+
o o m <



RESTRICTED

TRAY
DESCRIPTION

DATE

PILY RN RaN -
e EE
. . J L . i .

3 g0 e Ju 0 o) 1L e |

S S 410
LN

PS
MATERIAL
TE Connectivity

% 4.1 [ 10¢12/®R

SMT SHORT TYPE

TE

HDMI 19 POS RECEPTACLE ASSY

8-1903015—4; AS SHOWN

| &2
A3|00779|(C=1903015

I |
TS T e T
oY m HH

UL L0 B A L I, I
m-. ',I_",J'ﬂn,' -

JIU e T T oo J T oo JTT
I T

REVISIONS
i
DESCRIPTION

Ei ]

3%

SIZE | CAGE CODE | DRAWING NO

—>PS<
TRAY B
|

T

T

SEE SHEET 1
—

LTR

o T e g
)

_ T T T

Ny

CUSTOMER DRAWING

PRODUCT SPEC
EEAR

APPLICATION SPEC
mAHEARE

DWN
CHK
APVD
WEIGHT

2
DIST
L

,“-E = L-.Ff == t-!r, == ,“_Ff
o O R £

] ] ] ] ] ] ]
g | ey | I=l=0
£ T T A AT AT ATY

=\

I

T

T
LTSI T [T

+

=t ﬁ

—Ban
+
+
+
+

TOLERANCES UNLESS

OTHERWISE SPECIFIERS

LES

+0.5
FINISH
j: 43

20.7

TRAY B,
TRAY A/

THIS DRAWING IS A CONTROLLED DOCUMENT.
0 PLC
1 PLC
2 PLC
3 PLC

4

TRAY B (EMPTY,

@
|

mm

Nt :

DIMENSIONS:

MATERIAL
e

LA~ L~

JiU om=d J L o=@ J 1L omed J L
Fariastapiantnptanion!
|

(== J L o g0 gy gL e |
T T
e T T T
@ Fuplantantntantintng!
O h
oS e i e i
.@Qm&-iwﬂ.@ﬁ@-ﬁﬂﬁ@.

SN =N

SEP ,2005.

310-3
24_3REF

ALL RIGHTS RESERVED.

LN P AL P AL
H Y

Sps<
J
TRAY A
Y-Y
(SCALE 2:1)

BB\~ —aaa\= =y BB\~ —aaa\= =y fl

| RELEASED FOR PUBLICATION

T AT Lo JTU o J T

O H Y Eh

-,w‘mw ,«_F_y, == L-!‘, - I‘-._: vﬂl.i

o O T A T £
|

@er ,L-_Ff f—=— L-_Ff == 1
o

+0.5
9-27

Y 8
i
I

I

TRAY A

Iy

T

DIRECTION

MATING FACE

THIS DRAWING IS UNPUBLISHED.

COPYRIGHT 2005

n

o.

H

10M)|
o

H

&

0
M
-
147019 (3/11)




THIS DRAWING 1S UNPUBLISHED. [ RELEASED FOR FUBLICATION SEP ,2005. LoC DIST REVISIONS
3 Ed
© coprrioHT 2005 By - ALL RIGHTS RESERVED — FT R DESCRIPTION DATE DN | AFVD
- SEE SHEET 1 - - -
D D
2 MAX
PLUG CONNECTOR | | RECEPTACLE
CONNECTOR
WITHOUT FLANGE TYPE
] - N E -
(ji = d 2
N |1
|| Ml ]
2M|N |
C C
SCREW
2 2 MAX
=
PLUG CONNECTOR A | | RECEPTACLE
—] L CONNECTOR I
h WITH FLANGE TYPE
=)
N b
O - "= d @
(N
L Il ]
B B
2M|N |
MATING CONDITION (REFERENCE)
(SCALE 2:1)
THIS DRAWING IS A CONTROLLED DOCUMENT. [P [—)
o = TE TE Connectivity
| o e e
mm e e — . HDMI 19 POS RECEPTACLE ASSY
A 1 PLC ugAn SMT SHORT TYPE A
@ E 2 PLC e
3 PLC s APPLICATION SPEC
4 2L £, nftEARR SIZE | CAGE CODE D;A;IING NO RESTRICTED
MA‘;E!E{IAL FI%IEIJS:H WEIGHT A:/) 00779 @,:.1 903015 -~
CUSTOMER DRAWING S 41 M 11012 R

1470-19  (3/11)



m _ <C
(m] - _ -
(=}
_ m g | |z
W o E B
[
_ |5 8 w_
(] > s
o n
2|8 u
I g <
[¢] — [
2 2| o¢ g
wnlE| < e o]
o | Q o
gl © W b
) =l w | @k o | <
[= e o e
= Q |4
n ¥ M |3
e o e
E Z |2 o
I~ @ e T
o
M
o
H w
— 8 __H
, w
| m N
g o
(=)
8 w M)
o N "
- Gl g% 5 <C
5l ¢
5 < o
p IHIH s
i _— _— _—
: 2
Sh=h=h o\ [ |5
E || B i
] z =
- I 52\ 58 e\
g4 \[zE \[& |1
g | T gz R \ER\E |3
- — - = ..
= ™
_ - 2 NE H
m =ici=i NN
O |Cus HHHHH
\2/— =i 4 H 1H 15 g |g8
|
g ) o 2 |5 augaaydy
S _ / = PPPPPMW&
g = m) < W o-amnw
§ = | > o
) @ & m <
2 a o | —
] | | ! | | =3 © Msn
_ : it ©
T T T 1 T T M Ml.
| , g g |z .
7 L i A i L N B 2
; o e
< _ 2 B
1
1 1 1 1 1 1 1 1
J
M
g N
B
AR
1 -iw L
Z [ 7 = ) f 1 7 ‘, 7 m
mm T8 N
3 @ o ) -
= —| < YN_
g o M .
5 [ 3
[
| - [
z ——
m o
B ° " I I <
. >
5 <
im z
[o)]
z
45
Q
=2
. o
] oZ
] | %6 2
Hoy =
=
4™
S
; 3
g
S -




@Iasﬂ U

KomnaHus ((3J'IeKTpO|_|J'|aCT» npeanaraeT 3akKn4vyeHmne onrocpoYHbIX OTHOLLIEHUN npu
NOoCTaBKaxX MMMNOPTHbIX 3NTEKTPOHHbIX KOMMOHEHTOB Ha B3aMMOBbLIFO4HbIX yCJ'IOBI/lFlX!

Hawwn npeumyuiectsa:

e OnepaTuBHbIE NOCTABKM LUMPOKOrO CMeKTpa 3NeKTPOHHbIX KOMMNOHEHTOB OTEYECTBEHHOIO U
MMMOPTHOrO NPON3BOACTBA HANPAMYO OT MPOM3BOAMTENEN U C KPYNMHENLLNX MUPOBbLIX
CKNaaos.;

MocTaBka 6onee 17-TM MUNIIMOHOB HAMMEHOBAHWUIN 3NEKTPOHHbLIX KOMMNOHEHTOB;

MocTaBka CNoXHbIX, AeULNTHBIX, MMOO CHATLIX C MPOM3BOACTBA NO3ULIUIA;

OnepaTtunBHbIE CPOKM NOCTABKM Nof 3aka3 (0T 5 pabounx gHewn);

OKcnpecc goctaska B Nnobyto Touky Poccuu;

TexHnyeckas nogaepkka npoekTa, NomMoLLlb B nogdope aHanoros, NocTaBka NPOTOTUMOB;

Cuctema MeHeXMeHTa KavyecTBa cepTuduumnposaHa no MexayHapogHomy ctaHgapTty 1ISO

9001;

o JlnueHausa ®CH Ha ocyulecTBneHne paboT ¢ NCNONb30BaHWEM CBEOEHUIN, COCTABAOLLINX
rocygapCTBEHHYIO TalHy;

o [locTaBka cneumnanmampoBaHHbIX KOMNoHeHToB (Xilinx, Altera, Analog Devices, Intersil,
Interpoint, Microsemi, Aeroflex, Peregrine, Syfer, Eurofarad, Texas Instrument, Miteq,
Cobham, E2V, MA-COM, Hittite, Mini-Circuits,General Dynamics v gp.);

MoMMMO 3TOro, O4HMM M3 HanpaBnNeHU koMnaHum «AnekTpollnacT» ABNseTca HanpaBneHne

«UcTouHmkn nutaHua». Mel npeanaraem Bam nomoub KoHCTpyKTOpCKOro otaena:

e [logGop onTuManeHOro peleHus, TexHn4eckoe 060CHOBaHME Npu BbIOOpPE KOMMOHEHTA;
Monbop aHanoros.;
KoHcynbTaumm no NpUMEHEHMIO KOMMOHEHTA;
MocTaBka 06pa3yoB M NPOTOTUMNOB;
TexHn4veckasn noaaepka npoekTa;
3awmTa OT CHATMSA KOMMOHEHTA C NPON3BOACTBA.

Kak c Hamu cBfizaTbCcA

TenedoH: 8 (812) 309 58 32 (MHOrokaHanbHbIN)
Pakc: 8 (812) 320-02-42

OnekTpoHHas nouTta: org@eplastl.ru

Aapec: 198099, r. Cankt-INeTepbypr, yn. KannHuHa,
Oom 2, kopnyc 4, nutepa A.



mailto:org@eplast1.ru

